Contents lists available at ScienceDirect

Journal of Mathematical Analysis and Applications

www.elsevier.com/locate/jmaa

# Moments on Catalan numbers

# Xiaojing Chen, Wenchang Chu\*

Department of Applied Mathematics, Dalian University of Technology, Dalian 116024, PR China

#### ARTICLE INFO

Available online 29 August 2008

Submitted by H. Montgomery

Received 17 January 2008

Article history:

Keywords: Catalan numbers Telescoping method Chu-Vandermonde convolution ABSTRACT

By combining inverse series relations with binomial convolutions and telescoping method, moments of Catalan numbers are evaluated, which resolves a problem recently proposed by Gutiérrez et al. [J.M. Gutiérrez, M.A. Hernández, P.J. Miana, N. Romero, New identities in the Catalan triangle, J. Math. Anal. Appl. 341 (1) (2008) 52–61].

© 2008 Elsevier Inc. All rights reserved.

# 1. Introduction

Catalan numbers can be defined through binomial coefficients (cf. [1,7], [3, §1.15] and [5, §5.4] for example)

$$C_n = \frac{1}{n+1} \binom{2n}{n} \quad \text{for } n \in \mathbb{N}_0$$

which satisfy the recurrence relation

$$C_{n+1} = \sum_{k=0}^{n} C_k C_{n-k}$$

as well as the formula due to Touchard [13] (see [4,9,11] also)

$$C_{n+1} = \sum_{0 \leq k \leq n/2} 2^{n-2k} \binom{n}{2k} C_k.$$

This sequence has many amazing combinatorial properties. In his book [12, Exercise 6.19], Stanley listed 66 enumerative problems which are counted by Catalan numbers. More comprehensive and updated coverage about combinatorial interpretations of Catalan numbers can be found in http://www-math.mit.edu/~rstan/ec/.

Associated with Catalan numbers, Shapiro [10] introduced Catalan triangles with the entries given by

$$B_{n,k} = \frac{k}{n} {2n \choose n-k}$$
 where  $k \leq n$  and  $k, n \in \mathbb{N}$ .

There exist interesting relations for these numbers, for example, the recurrence relation

$$B_{n,k} = B_{n-1,k-1} + 2B_{n-1,k} + B_{n-1,k+1}$$
 for  $1 < k \le n$ 





(1)

<sup>\*</sup> Corresponding author. Current address: Dipartimento di Matematica, Università del Salento, Lecce-Arnesano PO Box 193, 73100 Lecce, Italy. E-mail addresses: chenxiaojing1982@yahoo.com.cn (X. Chen), chu.wenchang@unile.it (W. Chu).

<sup>0022-247</sup>X/\$ – see front matter @ 2008 Elsevier Inc. All rights reserved. doi:10.1016/j.jmaa.2008.08.042

and the expression in terms of Catalan numbers

$$B_{n,k} = \sum_{\ell_1+\ell_2+\cdots+\ell_k=n} C_{\ell_1}C_{\ell_2}\cdots C_{\ell_k}.$$

Recently, Gutiérrez et al. [6] established the following two summation identities

$$\sum_{k=1}^{n} k B_{n,k}^{2} = \binom{n+1}{2} C_{n} C_{n-1},$$

$$\sum_{k=1}^{n} k^{2} B_{n,k}^{2} = (3n-2)C_{2n-2}.$$
(2a)
(2b)

Observing another formula due to Shapiro [10, Corollary 3.5]

$$\sum_{k=1}^{n} B_{n,k}^2 = C_{2n-1} \tag{2c}$$

they proposed as one of the open problems to evaluate the following finite sum

$$\Omega_m(n) := \sum_{k=1}^n k^m B_{n,k}^2 \quad \text{for } m \in \mathbb{N}_0.$$
(3a)

This can be transformed into the evaluation of the following binomial moments:

$$\Theta_m(n) := \sum_{k=1}^n k^m \binom{2n}{n-k}^2 \quad \text{for } m \in \mathbb{N}_0.$$
(3b)

The purpose of the present short paper is to resolve this problem in general, which will be accomplished through combining inverse series relations with combinatorial computations. The key step will be expressing monomials as linear combinations of shifted factorial products, which will be given in the second section. Then the moments of even order will be computed in the third section by means of Chu–Vandermonde convolution formula on binomial coefficients. The fourth section will be devoted to the computation of the moments of odd order via telescoping method. Finally, the paper will end with few examples in the fifth section.

#### 2. Symmetric functions and inverse series relations

For a sequence of indeterminate  $\{\gamma_k\}_{k \ge 0}$ , denote the elementary and complete symmetric functions (cf. Macdonald [8, §1.2]) respectively by  $e_m(\gamma|\ell)$  and  $h_m(\gamma|\ell)$ :

$$e_0(\gamma|\ell) = 1 \quad \text{and} \quad e_m(\gamma|\ell) = \sum_{0 \le k_1 < k_2 < \dots < k_m < \ell} \gamma_{k_1} \gamma_{k_2} \cdots \gamma_{k_m} \quad \text{for } m \in \mathbb{N},$$
(4a)

$$h_0(\gamma|\ell) = 1 \quad \text{and} \quad h_m(\gamma|\ell) = \sum_{0 \le k_1 \le k_2 \le \dots \le k_m < \ell} \gamma_{k_1} \gamma_{k_2} \cdots \gamma_{k_m} \quad \text{for } m \in \mathbb{N}.$$
(4b)

Then there hold the following inverse series relations due to Chu [2]:

$$f_m = \sum_{k=0}^{m} (-1)^k h_{m-k}(\gamma | k+1) g_k,$$
(5a)

$$g_m = \sum_{k=0}^{\infty} (-1)^k e_{m-k}(\gamma | m) f_k.$$
(5b)

It is not hard to check that these inversions are equivalent to the following orthogonal relation:

$$\sum_{k=n}^{m} (-1)^{k-n} h_{k-n}(\gamma | n+1) e_{m-k}(\gamma | m) = \begin{cases} 0, & n < m; \\ 1, & n = m. \end{cases}$$

With the same  $\gamma$ -sequence as before, define the formal shifted factorials by

$$(x|\gamma)_0 = 1$$
 and  $(x|\gamma)_m = (x+\gamma_0)(x+\gamma_1)\cdots(x+\gamma_{m-1})$  for  $m \in \mathbb{N}$ . (6)

When  $\gamma_k = \pm k$  for  $k \in \mathbb{N}_0$ , they will reduce to the usual rising and falling factorials

$$(x)_0 = 1$$
 and  $(x)_m = x(x+1)\cdots(x+m-1)$  for  $m \in \mathbb{N}$ , (7a)

$$\langle x \rangle_0 = 1$$
 and  $\langle x \rangle_m = x(x-1)\cdots(x-m+1)$  for  $m \in \mathbb{N}$ . (7b)

Then we can write explicitly the polynomial

$$(x|\gamma)_m = \sum_{k=0}^m x^k e_{m-k}(\gamma|m).$$

Comparing this equation with (5b) specified by  $f_k = (-x)^k$  and  $g_m = (x|\gamma)_m$ , we get from (5a) the following dual relation

$$x^{m} = \sum_{k=0}^{m} (-1)^{m-k} (x|\gamma)_{k} h_{m-k} (\gamma|k+1).$$
(8)

Let y be another indeterminate. For the sake of brevity, denote by  $\sigma_{k,\ell}(y)$  the following special complete symmetric function

$$\sigma_{k,\ell}(y) = h_\ell (y^2, (y-1)^2, \dots, (y-k)^2)$$
  
=  $\sum_{0 \le k_1 \le k_2 \le \dots \le k_\ell \le k} (y-k_1)^2 (y-k_2)^2 \dots (y-k_\ell)^2.$ 

Putting  $x \to -x^2$  and  $\gamma_k = (y - k)^2$  in (8), we may write the resulting equation as

$$x^{2m} = \sum_{k=0}^{m} (-1)^k \langle y + x \rangle_k \langle y - x \rangle_k \sigma_{k,m-k}(y)$$
(9)

which will be our starting point to investigate the moments of Catalan numbers.

Furthermore, there is the following explicit expression for the connection coefficients

$$\sigma_{k,\ell}(y) = \frac{2(-1)^k}{\langle 2y \rangle_{2k+1}} \sum_{i=0}^k \binom{2y}{i} \binom{2k-2y}{k-i} (y-i)^{2k+2\ell+1}.$$
(10)

Let  $[x^m]f(x)$  stand for the coefficient of  $x^m$  in formal power series f(x). By means of the partial fraction decompositions, we can evaluate  $\sigma_{k,\ell}(y)$  as follows:

$$\begin{aligned} \sigma_{k,\ell}(y) &= h_\ell \left( y^2, (y-1)^2, \dots, (y-k)^2 \right) = \left[ x^\ell \right] \prod_{i=0}^k \frac{1}{1 - x(y-i)^2} \\ &= \frac{2}{k! \langle 2y \rangle_{k+1}} \left[ x^\ell \right] \sum_{i=0}^k (-1)^i \binom{k}{i} \frac{(y-i)^{2k+1}}{1 - x(y-i)^2} \frac{\langle 2y \rangle_i}{\langle 2y - k - 1 \rangle_i} \\ &= \frac{2}{k! \langle 2y \rangle_{k+1}} \sum_{i=0}^k (-1)^i \binom{k}{i} \frac{\langle 2y \rangle_i}{\langle 2y - k - 1 \rangle_i} (y-i)^{2k+2\ell+1}. \end{aligned}$$

Then the formula displayed in (10) follows in view of the binomial relation

$$\frac{\langle 2y \rangle_i}{\langle 2y-k-1 \rangle_i} = (-1)^{k-i} \binom{2y}{i} \binom{2k-2y}{k-i} \frac{i!(k-i)!}{\langle 2y-k-1 \rangle_k}.$$

## 3. Moments of even order for Catalan numbers

For the moments of even order, it is trivial to see that

$$\Theta_{2m}(n) = \sum_{k=1}^{n} k^{2m} {\binom{2n}{n-k}}^2 = \frac{1}{2} \sum_{\ell=-n}^{n} \ell^{2m} {\binom{2n}{n-\ell}}^2 \text{ where } m \neq 0.$$

Recalling the relation (9), we can write

$$\ell^{2m} = \sum_{k=0}^{m} (-1)^k \langle n+\ell \rangle_k \langle n-\ell \rangle_k \sigma_{k,m-k}(n).$$

Substituting this relation into the binomial sum with respect to  $\ell$ , interchanging the summation order and then applying the binomial relation

$$\langle n+\ell \rangle_k \langle n-\ell \rangle_k {2n \choose n-\ell}^2 = \langle 2n \rangle_k^2 {2n-k \choose n+\ell} {2n-k \choose n-\ell}$$

we can manipulate  $\Theta_{2m}(n)$  as follows:

$$\begin{split} \Theta_{2m}(n) &= \frac{1}{2} \sum_{\ell=-n}^{n} {\binom{2n}{n-\ell}}^2 \sum_{k=0}^{m} (-1)^k \langle n+\ell \rangle_k \langle n-\ell \rangle_k \sigma_{k,m-k}(n) \\ &= \frac{1}{2} \sum_{k=0}^{m} (-1)^k \sigma_{k,m-k}(n) \sum_{\ell=-n}^{n} \langle n-\ell \rangle_k \langle n+\ell \rangle_k {\binom{2n}{n+\ell}} {\binom{2n}{n-\ell}} \\ &= \frac{1}{2} \sum_{k=0}^{m} (-1)^k \langle 2n \rangle_k^2 \sigma_{k,m-k}(n) \sum_{\ell=-n}^{n} {\binom{2n-k}{n+\ell}} {\binom{2n-k}{n-\ell}}. \end{split}$$

By means of the Chu–Vandermonde convolution formula on binomial coefficients, the inner sum with respect to  $\ell$  can be evaluated as

$$\sum_{\ell=-n}^{n} \binom{2n-k}{n+\ell} \binom{2n-k}{n-\ell} = \binom{4n-2k}{2n-2k}$$

Keeping in mind (10) and observing further the relation

$$\frac{\langle 2n \rangle_k^2}{\langle 2n \rangle_{2k+1}} \binom{4n-2k}{2n-2k} = \binom{4n-2k}{2n-k} / (2n-2k)$$

we establish finally the following theorem.

Theorem 1 (Moments of even order for Catalan numbers). There holds the following identity

$$\Theta_{2m}(n) = \sum_{k=0}^{m} \frac{\lambda_k(m,n)}{2n-2k} \binom{4n-2k}{2n-k}$$

where the  $\lambda$ -coefficients are explicitly given by the binomial sum

$$\lambda_k(m,n) = \sum_{i=0}^k \binom{2n}{i} \binom{2k-2n}{k-i} (n-i)^{2m+1}.$$

In this theorem, replacing the  $\lambda$ -coefficients by the last line and then interchanging the summation order, we can derive another double sum expression.

Corollary 2 (Moments of even order for Catalan numbers).

$$\Theta_{2m}(n) = \sum_{i=0}^{m} \binom{2n}{i} (n-i)^{2m+1} \sum_{k=i}^{m} \frac{1}{2n-2k} \binom{4n-2k}{2n-k} \binom{2k-2n}{k-i}.$$

# 4. Moments of odd order for Catalan numbers

Instead, for the moments of odd order, we have to take completely different strategy to show the following result.

**Theorem 3** (Moments of odd order for Catalan numbers). Assume the same  $\lambda$ -coefficients as in Theorem 1. There holds the following identity

$$\Theta_{2m+1}(n) = n \binom{2n}{n} \sum_{k=0}^{m} \frac{\lambda_k(m,n)}{4n-2k} \binom{2n-2k}{n-k}.$$

**Proof.** According to (9), reformulate  $\Theta_{2m+1}(n)$  similarly as the double sum

$$\begin{aligned} \Theta_{2m+1}(n) &= \sum_{j=1}^{n} j \binom{2n}{n-j}^2 \sum_{k=0}^{m} (-1)^k \langle n+j \rangle_k \langle n-j \rangle_k \sigma_{k,m-k}(n) \\ &= \sum_{k=0}^{m} (-1)^k \langle 2n \rangle_k^2 \sigma_{k,m-k}(n) \sum_{j=1}^{n} j \binom{2n-k}{n+j} \binom{2n-k}{n-j}. \end{aligned}$$

314

Taking into account the equation

$$j = \frac{1}{2} \{ (n+j) - (n-j) \}$$

and the binomial relations

$$\binom{2n-k}{n+j} = \binom{2n-k-1}{n+j} + \binom{2n-k-1}{n+j-1},$$
$$\binom{2n-k}{n-j} = \binom{2n-k-1}{n-j} + \binom{2n-k-1}{n-j-1};$$

we may rewrite the summand in the inner sum as

$$j \binom{2n-k}{n+j} \binom{2n-k}{n-j} = \frac{2n-k}{2} \left\{ \binom{2n-k-1}{n+j-1} \binom{2n-k}{n-j} - \binom{2n-k}{n+j} \binom{2n-k-1}{n-j-1} \right\}$$
  
=  $\frac{2n-k}{2} \left\{ \binom{2n-k-1}{n+j-1} \binom{2n-k-1}{n-j} - \binom{2n-k-1}{n+j} \binom{2n-k-1}{n-j-1} \right\}.$ 

Now the inner sum with respect to *j* for the double sum expression of  $\Theta_{2m+1}(n)$  can be evaluated, via telescoping method, as follows

.

$$\sum_{j=1}^{n} j \binom{2n-k}{n+j} \binom{2n-k}{n-j} = \frac{2n-k}{2} \binom{2n-k-1}{n} \binom{2n-k-1}{n-1}$$

This leads consequently to the expression

$$\Theta_{2m+1}(n) = \frac{1}{2} \sum_{k=0}^{m} (-1)^k \langle 2n \rangle_k \langle 2n \rangle_{k+1} \binom{2n-k-1}{n} \binom{2n-k-1}{n-1} \sigma_{k,m-k}(n).$$

Finally, simplifying the last summand as

$$n\binom{2n}{n}\binom{2n-2k}{n-k}\frac{\lambda_k(m,n)}{2n-k}$$

we derive the formula stated in Theorem 3.  $\hfill\square$ 

Similarly, substituting the expression of the  $\lambda$ -coefficients into the equation stated in Theorem 3 and simplifying the result, we get another formula for  $\Theta_{2m+1}(n)$ .

Corollary 4 (Moments of odd order for Catalan numbers).

$$\Theta_{2m+1}(n) = n \binom{2n}{n} \sum_{i=0}^{m} \binom{2n}{i} (n-i)^{2m+1} \sum_{k=i}^{m} \frac{1}{4n-2k} \binom{2n-2k}{n-k} \binom{2k-2n}{k-i}.$$

## 5. Few examples

According to (3a) and (3b), it is trivial to see

$$\Omega_m(n) = n^{-2} \Theta_{m+2}(n).$$

Then we can reformulate the formulae of Theorems 1 and 3 as the following expressions of  $\Omega_m(n)$  in terms of Catalan numbers.

Proposition 5 (Linear relations in terms of Catalan numbers).

$$\Omega_{2m}(n) = \sum_{k=0}^{m+1} C_{2n-k} \frac{1+2n-k}{n^2(2n-2k)} \lambda_k (1+m,n), \tag{11a}$$

$$\Omega_{2m+1}(n) = \sum_{k=0}^{m+1} C_n C_{n-k} \frac{(1+n)(1+n-k)}{n(4n-2k)} \lambda_k (1+m,n).$$
(11b)

Both formulae together provide a complete solution to the second problem proposed recently by Gutiérrez et al. [6]. In order to facilitate further computations, we display the first few  $\lambda$ -coefficients as follows:

$$\lambda_0(m,n) = n^{1+2m},\tag{12a}$$

$$\lambda_1(m,n) = 2n(1-n) \{ n^{2m} - (n-1)^{2m} \},$$
(12b)

$$\lambda_2(m,n) = n(n-2) \{ (2n-3)n^{2m} - 4(n-1)^{2m+1} + (2n-1)(n-2)^{2m} \},$$
(12c)

$$\lambda_3(m,n) = \frac{2n(3-n)}{3} \left\{ \begin{array}{l} (n-2)(2n-5)n^{2m} - (n-1)(2n-1)(n-3)^{2m} \\ -3(2n-5)(n-1)^{2m+1} + 3(2n-1)(n-2)^{2m+1} \end{array} \right\}.$$
(12d)

Applying these polynomials, we can easily recover the formulae displayed in (2a), (2b) and (2c). Furthermore, we can also derive the following identities:

$$\Omega_3(n) = C_n C_{n-1} \frac{n^2(n+1)}{2},$$
(13a)

$$\Omega_4(n) = C_{2n-3} \frac{15n^3 - 30n^2 + 16n - 2}{n - 1/2},$$
(13b)

$$\Omega_5(n) = C_n C_{n-2}(n+1)n \{3n^2 - 5n + 1\},$$
(13c)

$$\Omega_6(n) = C_{2n-4} \frac{105n^5 - 420n^4 + 588n^3 - 356n^2 + 96n - 10}{(n-1)(n-1/2)},$$
(13d)

$$\Omega_7(n) = C_n C_{n-2}(n+1)n \{ 6n^3 - 12n^2 + 6n - 1 \},$$
(13e)

$$\Omega_8(n) = C_{2n-5} \frac{945n^7 - 6300n^6 + 16380n^5 - 21480n^4 + 15496n^3 - 6306n^2 + 1376n - 126}{(n-1)(n-1/2)(n-3/2)},$$
(13f)

$$\Omega_9(n) = C_n C_{n-3} \frac{2n(n+1)}{n-1} \{ 30n^5 - 150n^4 + 252n^3 - 185n^2 + 65n - 9 \}.$$
(13g)

Among these formulae, (13a) has been conjectured numerically by Gutiérrez et al. [6].

#### References

- [1] M. Aigner, Catalan-like numbers and determinants, J. Combin. Theory Ser. A 87 (1999) 35-51.
- [2] W. Chu, Divided differences and generalized taylor series, Forum Math., in press.
- [3] L. Comtet, Advanced Combinatorics, Reidel, Dordrecht, The Netherlands, 1974.
- [4] H.W. Gould, Generalization of a formula of Touchard for Catalan numbers, J. Combin. Theory Ser. A 23 (3) (1977) 351-353.
- [5] R.L. Graham, D.E. Knuth, O. Patashnik, Concrete Mathematics, Addison-Wesley Publ. Company, Reading, MA, 1989.
- [6] J.M. Gutiérrez, M.A. Hernández, P.J. Miana, N. Romero, New identities in the Catalan triangle, J. Math. Anal. Appl. 341 (1) (2008) 52-61.
- [7] P. Hilton, J. Pedersen, Catalan numbers, their generalization and their uses, Math. Intelligencer 13 (1991) 64-75.
- [8] I.G. Macdonald, Symmetric Functions and Hall Polynomials, Clarendon Press, Oxford, 1979.
- [9] J. Riordan, A note on Catalan parentheses, Amer. Math. Monthly 80 (8) (1973) 904-906.
- [10] L.W. Shapiro, A Catalan triangle, Discrete Math. 14 (1976) 83-90.
- [11] L.W. Shapiro, A short proof of an identity of Touchard's concerning Catalan numbers, J. Combin. Theory Ser. A 20 (3) (1975) 375-376.
- [12] R.P. Stanley, Enumerative Combinatorics, vol. 2, Cambridge Univ. Press, 1999.
- [13] J. Touchard, Sur certains equations functionnelles, in: Proc. Internat. Math. Congress, Toronto, 1928, vol. 1, pp. 465-472.

. . .